Pg. 194 #11

1.05 mol MnOQ, y 4 HCI
1 MnQ,

1.25 mol H,0 ><1 MnCl,
2H.,0

=4.20 mol HCI

=0.625 mol MnCl,




Pg. 194 #12

100. g Al,C, ><1 mol Al,C, y 12H.,0 _
14422 g 1 Al,C,

8.32 mol H.,0

0.600 mol CH, 4 Al(OH),
3 CH,

=0.800 mol AlI(OH),



Pg. 194 #13

500. g Ca(OH), ><1 mol Ca(OH), y 2 NaOH y 40.01g
74.10 g 1 Ca(OH), 1 mol NaOH

540. g NaOH



Pg. 194 #14

10.0 g Zn y 1 mol Zn y 1Zn,(PO,), y 386.11 ¢ B
65.39 g 3 Zn 1 mol Zn,(PO,),

19.7 g Zn,(PO,),



Pg. 194 #15

125 kg Fe,O, = 125000 g Fe,O,

125000 g Fe,O, y 1 mol Fe203 2 Fe 55 859
159.70 g 1 Fe,O, 1mo| Fe

87430 g Fe=87.4 kg Fe



Pg. 194 #16

3759 Fe,O, 1mol Fe,O, 4H,O 18.02 g
374 o 374 o 2~ % =
231559 1 Fe,O, 1mol H,0O

117 g H,0

3759 Fe,O, 1mol Fe,O 3 Fe 55.85 ¢
34 % 374 X X —
231559 1 Fe,0, 1mol Fe

2719 Fe



Pg. 194 #17ab

15.0molC,H, 70,
2C,H,

=52.5mol O,

8.00gH,O1molH,04CO, 4401g

18.02g 6H,O01mol CO,
=13.03 g CO,



Pg. 194 #17cd
75.0g C,H, 1mol C,H, 4 CO, 44.01g

30.06g 2C,H, 1mol CO,
= 219.6 g CO,

2.75mol H,0 4 mol CO, 44.01¢g
6 mol H,O 1 mol CO,

-80.7 g CO,




Pg. 194 #17ef
250molC,H, 70, 32.00¢g

2C,H,1mol O,

=2800¢g O,

125gH,01molH,02C,H, 30.06(g
18.02g 6 H,O 1mol C,H,

=69.59 C,H,




Pg. 197 #27

1 mol 02 1 mol X8

= 0.313 mol Xg
32.0 ¢ 12 mol O,

0.313 mol X8 _ 1 mol X8

80.0 g Xg ?

?=256¢9g +8 = 32.0 g or sulfur



Pg. 197 #29

0.927 mol AlBr, from Al
0.417 mol AlBr, from Br,

04209 _ 5789
111 g




Pg. 196 #37a

750.9 CgHy,0, 1mol CH,0, 2C,HOH 4609

180.0 ¢ 1C,H,O0, 1mol C,H.OH
= 3839 C,H.OH

750.g9 C,H,,0O, ><1 mol C.H,,O, y 2 CO, y 440 ¢
180.0 g 1C,H,O, 1mol CO,

= 367 g CO,
or 750.g — 3839 = 367¢



Pg. 196 #37b

750.g9 C.H,,0O, ><1 mol C,H,,0O, y 2 C,H.OH y 46.0 g

180.0 g 1C.H,,0, 1mol C,H.OH
= 383 g C,H.OH

d=" 079-3% v _s80mL
Vv Vv



Pg. 196 #38

2CH,0H () +30, (9) ——>2CO0, (9) +4H,0 (9g)

d:m 0_72:_m m=43¢
V 60.0

439 CHOH 1mol CHOH 30, 32.0 g

X

320¢ 2CH,OH 1mol O,

= 659 0,



Pg. 196 #39abcd

a. 295312.5 = 3.0x10° g

b. 213277 = 2.1x10° g
c.97.47 = 97.5¢
| 750 g N,H, ><1mo| NZH4>< 8 H,0
320¢g 1N,H,
125 g H,0, ><1mo| H.,O, y 8 H,0
340¢g 7 H,0,

d

=187.5 mol H,O

=4.20 mol H,0=75.6 g H,0



Pg. 196 #39¢

1259 H,0, 1mol H,0, IN,H, 3209

3409 / H,O, 1mol N,H,
=16.8 g used
750. — 16.8 = 733 g remaining



Pg. 197 #43
a) lead(11) iodide — Pbl,
b) double displacement

Pb(NO,), + 2KI —> Pbl, + 2KNO,
15 g Pb(NO,), 1mol Pb(NO,),  1Pbl,
331.2 g 1 Pb(NO,),

159 KI_1mol KI _1Pbl,
166.0g 2 KI

= 0.0453 mol Pbl,

=0.0452 mol Pbhl,

0.0452 mol Pbl, =20.8 g % = 32.1%



Pg. 197 #45
180.0 g Zn—-359 Zn=145 g Zn used

14592nxlmol ZnXle>< 2.02 g _448gH,
6549 1Zn 1mol H,

145 ¢ anlmol an 2 HCI y 36.5¢
65.4 ¢ 1Zn 1 mol HCI

35¢ anlmol ZnXZ HCI y 36.5¢
65.4 ¢ 1Zn 1 mol HCI

~162 g HCI

=39.1g HCI



Pg. 197 #47

CO (g9)+2H, (g)——>CH,OH (¥)

4009 CO 1molCO 1CHOH 3209
2809gCO~ 1CO  1mol CH,OH

10.0¢g Hlemol H, ><1CH30H y 3204

2.02gH, 2 H, 1 mol CH,OH
H, is the excess reactant, 5.7 g (45.7 - 40.0) were used.
Therefore, 10.0g - 5.7g = 4.3g remain.

=45.7 g CH,OH

=79.2 g CH,OH



